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Goal 3.1.1 – DNA
DNA

-Deoxyribonucleic Acid

-Is a type of _____________ acid

-What chromosomes (and _______) are made of
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-Made up of repeating ________________ subunits
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-1 nucleotide looks like: 



-Phosphates and sugars on the __________________

-Bases on the ______________ (bases fit like puzzle pieces)

Shape is a DOUBLE HELIX

-Double helix: _____ spirals wound around each other

-_____________________ took an X-ray photo of ______

-_____________________ and _____________________ interpreted the photo and discovered the double helix structure (they won the nobel prize)

CODON: group of _______ bases

___________: stretch of DNA that codes for a trait


-the code is the order of the bases (______________)


-genes are hundreds or thousands of bases long

Ex: ________ color gene, __________ gene, ___________ color gene



Label the following: 
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Hydrogen Bonds

Phosphate

Deoxyribose Sugar

Practice EOC Questions
1. A molecule of DNA is a polymer composed of

A.  glucose       
 B. amino acids    

 C. fatty acids    

D. nucleotides

2. The presence of DNA is important for cellular metabolic activities because DNA

A.  directs the production of enzymes 


B. is a structural component of cell walls 

C.  directly increases the solubility of nutrients 

D. is the major component of cytoplasm

3. Which nitrogenous bases make up DNA nucleotides?

A.  adenine, thymine, guanine, and cytosine 


B.  adenine, uracil, guanine and cytosine 

C.   adenine, thymine, uracil, and cytosine 


D.  adenine, thymine, guanine, and uracil 

4. A change in the base sequence of DNA is known as

A.  a gene mutation       
B. a karyotype      
C. nondisjunction      

D. polyploidy
5.  A sugar, a phosphate group, and a nitrogen base form the building blocks of which organic compound? 
  A. carbohydrates
  
B. lipids

 C. nucleic acids

D. proteins

6.  Who developed the double helix model of the DNA molecule?

A.  Darwin
  
 B. Watson & Crick
  
 C.  Franklin & McDevitt
     D.  Hardy & Weinberg

7. A segment of DNA has this base sequence : ACG TAG TCA GTA. Which is the base sequence of the complementary DNA strand?

A.  TGC ATC AGT CAT          B.  CAT GCT GAC TGC
         C.  ACG TAG TCA GTA          D.  UGC AUC AGU CAU

Complementary base pairs:


________ binds with ________ only


________ binds with ________ only





4 Types of Bases:


___________________________ (A)


___________________________ (G)


___________________________ (C)


___________________________ (T)








